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2.Hadamardig %
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| LV ildxﬂidx - Zﬁdx
" X(1—X) " X *1—X " X

iLax =1L dx

° X "1—X

BB RERXR[c1- <D d D
tDftiz[-a,a](a > 0)&3 3,

1 oo 1
dx =1 d
gx(l—x) . !m[!x(l—x) d
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_[ dx DB RER
x (1 —x)
_ﬁ?ﬁﬁtﬁé&ﬂﬁﬁ
£=10"",h = 0.5%°
tmax *ﬁ 1
30| 3.78125 |[E1T#EE [0.1377527175764281Q+03
AT R 0.1377527175737553Q+03
40( 4.06250 |Ef7#EE |0.1825335145091959Q+03
AT % 0.1825335145056543Q+03
50| 4.28125 |ZE1T4#EE |0.2271904668671839Q+03
AT FR 0.2271904668627759Q+03
60| 4.46875 |Ef7#5E (0.2740603967483030Q+03
R AT A% 0.2740603967429856Q+03
70| 4.62500 |ZE1T#5E |0.3204203634779741Q+03
R AT AZ 0.3204203634717572Q+03
80 4.75000 |E17#EE [0.3630915590459988Q+03
AR AT % 0.3630915590389539Q+03
90| 4.87500 |E{T#5E [0.4114434511893274Q+03
AT % 0.4114434511813443Q+03
100 5.00000 [E1T#H5E [0.4662325224569613Q+03
AR AT % 0.4662325224479152Q+03
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I, — |Og(1) = ntsinh(a) — log(l + e™ M@ ) — _g-7sinh@)
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AU+ R —=—f
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PEIEE[0.1] x[0,1] x[0,1]
BB U(X, Y, 2) = e xsin(mx) x sin(ry) x sin(nz)
FEXTPRRTRE,

Rk
bcg(biconjugate  gradient)ih
R =100,nx =ny =nz =129
cgs(conjugate  gradient  square)¥k
R =100,nXx =ny =nz =65
R e X L g R 2210

£ u(x,y,z) =0




3.1 bcgik

begik 18 Bl

BE 1M |IEFR1E SR/ IERR1E
56wk 50001 |none none

60E vk 4315|node none

64E vk 1579 931 1.696
68E vk 938 826 1.136
72E vk 784 738 1.062
76E vk 593 664 0.893
IEBEE 482 600 0.803
84E vk 439 545 0.806
8sE vk 396 497 0.797
92E vk 368 455 0.809
96E vk 336 418 0.804
100E vk 325 386 0.842
104E vk 319 357 0.894
108E vk 313 331 0.946
ABRE 308 308 1

(G£)50001[E][F50000[E] = 1E8
TYE LGN 2T=FEERLTLNET,

1IE#R1E
PEMIE Y= EDE v #+1

IE IR AL B 182 =1 %L
113 .

308 x (
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3.2 cgsik

e5430 cgs 18 [O%#4

{ZEFEE(X10000E] YRR B I,

=12 B34
== ieee ieee smp dd
A41EBE= 392 448 670
5% %5 = 226 155|hone
6IE B E 130 131 144
71=¥E = 128 128|hone
S1IZEfHEE 128 128 128
E=E1TRFREIGFD)
&= ieee ieee smp dd
A41EBE 159.2898 | 105.5012 95.3938
S5{EHEE 221.2924 75.4942 |none
6IE B E 144.4976 68.8694 39.1221
PR i 171.5329 69.8044 |none
SIZE¥EE 213.6745 61.7321 70.0613
g4sum,gbsum {5 FH
BEE = iEB%k |==1T78ER
A41EBE 378| 160.5706
S5{EHE 155 157.2171
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dd2 =X ces s &5 [B] F

E v ~#E IE Bl
05 4931
06 2155
o7/ 3506
08 2811
09 1250

100 1103
101 1080
102 1027
103 815
104 702
105 630
106 670




4 infra SR8
4.1 IRTHEAEHR

dQ = dx dx dx,dx,dx;
D =C(X;M~ + x,2?)
+ (X, + X, + X )(X, +X%X)?
+ (X, +X,)°@A—x; —X5,)
+ 2X5 (X + X3)(X, + Xg)
C=X30—X%X; — X, —X3)+(X; +X,)Q—X; —X5,)
Xeg =1—X,;, — X, —X5; — X, —Xg
T, =10 " TORITMEI DO—IRZ=ES5T,
IR FZEBLSYIHIL0MEI OMT — B I SHA B FE.

o r
1 1 1 J
Iz.g.([_g—dDz xdydz

J=0A—x)°yz
D=[0A—Xx+Xxy@Q—y)]
<[X@A—yYy)M? + A —x)A—2)27]
+ [xXy*(@A—xy)+ @A —x%x)?z?
+ 2XA—x)y@Q—y)z]

M=0DiES%case1 M=91.19/0.1057DiBS
%#case2,M=125.5/0.1057M1x & %case3&
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casel 2REHD

—%%

N=/28

N=1456

N=2912

16

9.3018776181

9.3018981103

9.3018981103

17

9.3020175196

9.3018981105

5.3018981105

18

9.3020700139

9.3018981101

9.3018981105

19

9.3016335118

9.3018981100

9.3018981109

20

9.3023935051

5.3018981077

5.3018981105

21

9.3029475739

9.3018981216

9.3018981105

22

9.2971188923

9.3018980753

9.3018981109

23

9.3041142583

9.3018982336

9.3018981105

24

9.3093273173

9.3018981250

5.3018981105

25

9.2943816325

9.3018976075

9.3018981105

26

9.2794768170

9.3018979849

9.3018981109

21

9.3558839326

5.3019004772

5.3018981105

28

9.3091134086

9.3018977130

9.3018981105

Casel DIZEIF

Bl Iog(%)@Z?ﬁ(ﬁl:&%d)'c:‘
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case2 —REN—E&

N=728

N=1456

N=2912

16

0.000038733241268

0.000038733248507

0.000038733248507

17

0.000038733234064

0.000038733248507

0.000038733248507

18

0.000038733266331

0.000038733248507

0.000038733248507

19

0.000038733326864

0.000038733248507

0.000038733248507

20

0.000038733174086

0.000038733248506

0.000038733248507

21

0.000038733353236

0.000038733248506

0.000038733248507

22

0.000038733544343

0.000038733248510

0.000038733248507

23

0.000038731850666

0.000038733248499

0.000038733248507

24

0.000038732625311

0.000038733248540

0.000038733248507

25

0.000038734471892

0.000038733248546

0.000038733248507

26

0.000038731896322

0.000038733248424

0.000038733248507

27

0.000038724804488

0.000038733248425

0.000038733248507

28

0.000038738845469

0.000038733249112

0.000038733248507

29

0.000038740941884

0.000038733249063

0.000038733248507

cased —REH—ER

N=728

N=1456

N=2912

16

0.000021493099355

0.000021493102821

0.000021493102821

17

0.000021493093286

0.000021493102821

0.000021493102821

18

0.000021493115638

0.000021493102821

0.000021493102821

19

0.000021493142483

0.000021493102821

0.000021493102821

20

0.000021493082925

0.000021493102821

0.000021493102821

21

0.000021493117428

0.000021493102821

0.000021493102821

22

0.000021493302447

0.000021493102823

0.000021493102821

23

0.000021492401183

0.000021493102817

0.000021493102821

24

0.000021492629664

0.000021493102839

0.000021493102821

25

0.000021493704654

0.000021493102844

0.000021493102821

26

0.000021492781172

0.000021493102769

0.000021493102821

27

0.000021488800060

0.000021493102792

0.000021493102821

28

0.000021495565878

0.000021493103126

0.000021493102821

29

0.000021496356431

0.000021493103198

0.000021493102821
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4.2 bsgammast&

bsgamma  planar
D=c(x,(p,” -m,)+X,(p, -m,))-x,m,* ~x,m,)
¢, (X P, XD, XX (D, +D,))
(0 +0,)
X XKDy - XKD,y 4 X)) ;)
Xe =1=X, =X, =X; =X, = X;

(x p2 +X, p1 XX

C, =X, +X, +X,

C, =1-X, =X,

C:)(:3(1_)(1_)(2 _X3)+(X1+X2)(1_X1_Xz)zxs(cz _X3)+(1_C2)C2
pl=mpt=mim =m =15m,=803477,m =47m, =009
m, =4

1-X, 1-X; =X, 1-X, =X, ~X3 1-X,~X, ~X3=X,

11-x
| = ! ! J j j def,dmdxsdxzdx1

0 0
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bsgamma = NE 7 s

N=128

N=1024

N=146

16

(.000881676036303

(.000881676024318

(.000881676024308

1

(.000881675957819

(.000881676024256

(.000881676024308

18

(.00088167612706

(.000881676024379

(.000881676024308

19

(.000881676192593

(.00088167602409%

(.000881676024308

il

(.000881675929067

(.000681676025640

(.000881676024307

/]

(.000881675933258

(.000881676026869

(.000881676024308

2

(.000881675979610

(.000881676024874

(.000881676024309
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5.1 248{EHREERELER

x5570 L=208 ,U=10 EITRRER)

RE EHEVNE B n=20 n=100

68 2161 100 2790| 254609

128K 4081 180 16956 1528008

188fE R 6001 250 50123| 4375879

2481EREE 7921 300 100222 9036094
iExHER/ME—E

RE n=20 n=100

e 0.330D-307 {0.330D-307

128fE¥5E  |0514D-553 |0.512D-553

188f=¥E  [0.476D-768 [0.468D-768

2ASIEHERE  0.126D-921 |0.121D-921

N=20&EN=100THORAMETII KRS L=
ERSNFEEA.




5.2 BZERHFOHTEE

SEHEE ST

—_CyEE S IXX=ETT

B<F FA]

(ZEEHIIFIT DM EL T

cEE SEI(N)

1(100) = I(20)™

ITHIUFEM=3

== m

681I=Z e = 2.805

128 1EZ K5 E 2.797

1881 = 2.777

2481 S = 2.797

681 B IEEE LT

IEFRIBEL 7= &=

ICP) PBAIE YERZHKL

I(P) = ( P )ml(2161)
2161

FEE m=2

== m

1281 = 1.894

188I1EZEE 1.888

2481= K5 = 1.902




